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Bursar in Tamil Nadu Educational Service - 21-03-2023 
 

1. Which of the following statements is true about Bhagat Singh? 
(1) Michal O’ Dwyer was murdered by him 
(2) He shot dead John Saunders, the police official responsible for the Lathi charge in 
Lahore 
a. Only (1) is correct    b. Only (2) is correct   
c. Both (1) and (2) are correct  d. None of the above 
e. Answer not known 
gfj;rpq; gw;wpa gpd;tUk; $w;Wfspy; vJ rup? 
(1) ikf;Nfy; X ilau; mtuhy; nfhy;yg;gl;lhu; 
(2) yh$hpy; yj;jp mbf;Ff; fhuzkhd [hd; rhd;lu; vd;w NghyP]; mjpfhhpiar; 

Rl;Lf;nfhd;whh; 
a. (1) kl;Lk; rup   b. (2) kl;Lk; rup  c. (1) kw;Wk; (2) rhp 
d. NkNy cs; vjTkpy;iy  e. tpil njhpatpy;iy 
 

2. Members of the Cabinet Mission sent to India in 1946 were 
a. Lord Pathick Lawrence, Sir Stafford Cripps and A.V. Alexander 
b. Lord Pethick Lawrence, Sir Simon, Stafford Cripps 
c. Lord Pethick Lawrence, Sir Simon, A.V. Alexander 
d. Stafford Cripps, Sir Simon, A.V. Alexander 
e. Answer not known 
1946 mikr;ruit J}Jf;FOtpd; cWg;gpdh;fshf ,e;jpah te;jth;fs; 
a. ngj;jpf; yhud;]; gpuG> rh; ];lhg;Nghh;L fphpg;]; kw;Wk; V.tp. mnyf;rhz;lh; 
b. ngj;jpf; yhud;]; gpuG> rh; irikd;> ];lhg;Nghh;L fphpg;]; 
c. ngj;jpf;yhud;]; gpuG> rh; irkd;> V.tp. mnyf;rhd;lu; 
d. ];lhg;Nghh;L fphpg;];> rh; irkd;> V.tp. mnyf;fhz;lh;  
e. tpil njhpatpy;iy 
 

3. The Quit India movement resolution was drafted by 
a. Gandiji   b. Subash Chandra Bose  c. C.R. Das 
d. Jawaharlal Nehru  e. Answer not known 
nts;isaNd ntspNaW jPh;khdj;ij tbtikj;jth; 
a. fhe;jp[p   b. Rgh~; re;jpu Ngh];  c. rp.Mh;. jh]; 
d. [t`h;yhy; NeU  e. tpil njhpatpy;iy 

 
4. The newspaper ‘Harijan’ was started by 

a. Dr. B.R. Ambedkar b. Gandhiji    c. M.C. Raja 
d. Jawaharlal Nehru  e. Answer not known 
‘`hp[d;’ gj;jphpf;if ahuhy; njhlq;fg;gl;lJ? 
a. lhf;lh; gp.Mh;. mk;Ngj;fhh; b. fhe;jp[p   c. vk;.rp. uh[h 
d. [t`h;yhy; NeU   e. tpil njhpatpy;iy 
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5. Choose the correctly matched pairs: 

(1) Rajaji formed his ministry  - 1939 
(2) Vedaranyam Sathyagragha  - 1930 
(3) Reorganised educational system - 1958 
(4) C.R. Formula    - 1944 
a. (1) and (3)   b. (1) and (2)   c. (2) and (4) 
d. (3) and (4)   e. Answer not known 
fPo;f;fhz;gdtw;Ws; rhpahd nghUj;jq;fisj; Njh;e;njLf;fTk; 
(1) ,uh[h[p mikr;ruitia   - 1939 
   Vw;gLj;jpa Mz;L 
(2) Ntjhuz;a rj;jpahfpufk;  - 1930 
(3) kW rPuikg;G fy;tpKiw  - 1958 
(4) rp.Mh; ghh;Kyh (jpl;lk;)   - 1944 
a. (1) kw;Wk; (3)   b. (1) kw;Wk;  (2)  c. (2) kw;Wk;  (4) 
d. (3) kw;Wk; (4)   e. tpil njhpatpy;iy 
 

6. The Poona pact in 1932 was signed between Mahathma Gandhi and  
a. Tilak   b. Vinoba Bhave  c. Chandra Sekhar Azad 
d. Ambedkar  e. Answer not known 
1932 Mz;L G+dh xg;ge;jk; kfhj;kh fhe;jp kw;Wk; ,tUld; cWjpg;gLj;jg;gl;lJ 
a. jpyfh;   b. tpNdhgh ghNt  c. re;jpu Nrfh; Mrhj; 
d. mk;Ngj;fh;   e. tpil njhpatpy;iy 
 

7. The Indian national congress was founded in  
a. 1884 A.D.   b. 1885 A.D.   c. 1886 A.D. 
d. 1887 A.D.   e. Answer not known 
,e;jpa Njrpa fhq;fpu]; cUthf;fg;gl;l Mz;L 
a. fp.gp. 1884   b. fp.gp. 1885   c. fp.gp. 1886 
d. fp.gp. 1887   e. tpil njhpatpy;iy 
 

8. Who stated Indus script is related to Old Tamil? 
a. I. Mahadevan  b. R. Nagasamy  c. Yu. Knovozov 
d. A. Veluppillai  e. Answer not known 
rpe;Jntsp thptbtq;fs; goe;jkpNohL njhlh;GilaJ vd;W njhptpj;jJ ahh;? 
a. I. kfhNjtd;  b. R. ehfrhkp   c. A+. FNdhNthNrht; 
d. M. NtYg;gps;is e. tpil njhpatpy;iy 
 

9. Who was the war god mentioned in the Sangam Literature? 
a. Thirumal   b. Siva   c. Murugam 
d. Indra   e. Answer not known 
rq;f ,yf;fpaj;jpy; Nghh; flTshf Fwpg;gplg;gl;l nja;tk; vJ? 
a. jpUkhy;   b. rptd;  c. KUfd; 
d. ,e;jpud;   e. tpil njhpatpy;iy 
 

10. What is meant by ‘Ambanam’ in the Sangam period? 
a. A Musical instrument b. A measurement of paddy c. A kind of dance 
d. A kind of festival  e. Answer not known 
rq;f fhyj;jpy; ‘mk;gzk;’ vd;gj ahJ? 
a. xU ,irf; fUtp  b. ney;iy msf;f gad;gLk; fUtp 
c. xU tif eldk;  d. xU tif jpUtpoh 
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e. tpil njhpatpy;iy 
 

11. Kudimiyanmalai inscription describes about 
a. Music   b. Drama   c. Local Self-Government 
d. Dance   e. Answer not known 
FLkpahd;kiy fy;ntl;L _________ gw;wp tpsf;Ffpd;wJ 
a. ,ir  b. ehlfk;  c. fpuhk Ml;rp Kiw 
d. eldk;  e. tpil njhpatpy;iy 
  

12. Which of the following is (are) not matched correctly? 
(i) Megalithic burial site - Sittanavasal 
(ii) Urn burial   - Mallapadi 
(ii) Glass Industry  - Karaikadu 
(iv) Music inscription - Arachalur 
a. (i) only   b. (ii) and (iv) only  c. (iii) and (iv) only 
d. (iv) only   e. Answer not known 
fPo;f;fz;ltw;wpy; vJ (vit) nghUe;jtpy;iy? 
(i) ngUq;fw;fhy Gijay;  - rpj;jd;dthry; 
(ii) jhop Gijay;    - ky;yg;ghb 
(iii) fz;zhb njhopw;rhiy - fhiuf;fhL 
(iv) ,irf; fy;ntl;L  - mur;rY}h; 
a. (i) kl;Lk;   b. (ii) kw;Wk; (iv) kl;Lk;  c. (iii) kw;Wk; (iv) kl;Lk;  
d. (iv) kl;Lk;    e. tpil njhpatpy;iy 
 

13. Match the following: 
Literature   Life style of the people 
A. Silapathikarak  1. Urimai Sutram 
B. Kalithogai   2. Branding of Slaves 
C. Malaipadukadam 3. Luxurious equipment’s in the palace  
D. Nedunal vadai  4. Food Habits of the people 

A B C D 
a. 2 1 3 4 
b. 1 2 4 3 
c. 4 3 2 1 
d. 1 2 3 4 
e. Answer not known 
fPo;fz;ltw;iw nghUj;Jf: 
,yf;fpak;   kf;fs; tho;tpay; 
A. rpyg;gjpfhuk;  1. chpik Rw;wk; 
B. fypj;njhif  2. Mbik Kj;jpiuaply; 
C. kiygLflhk;  3. muz;kidapd; Mlk;gu cgfuzq;fs; 
D neLey;thil  4. kf;fs; czT gof;f tof;fk; 

A B C D 
a. 2 1 3 4 
b. 1 2 4 3 
c. 4 3 2 1 
d. 1 2 3 4 
e. tpil njhpatpy;iy 
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14. Which of the following inscription mentions about the destruction of the ‘Tamil 
Confederacy’? 
a. Allahabad Pillar Inscription  b. Hathigumpa Inscription of Kharavela 
c. Junagadh Rock Inscription  d. Mehrauli Pillar Inscription 
e. Answer not known 
gpd;tUk; ve;j fy;ntl;by;> ‘jkpo; $l;likg;gpd;’ rPu;FiyT gw;wp Fwpg;gpLfpwJ? 
a. myfhghj; J}z; fy;ntl;L  b. fhuNtyhtpd; `jpFk;gh fy;ntl;L 
c. [Pdhfj; fy;ntl;L   d. nk ;̀nusyp J}z; fy;ntl;L 
e. tpil njhpatpy;iy 
 

15. Choose the right matches from the following: 
(1) Perumpalai  - Dharmapuri District 
(2) Mayiladumparai  - Thoothukudi District 
(3) Sivakalai   - Krishnagiri District 
(4) Thulukkarpatti  - Tirunelveli Disctrict 
a. 1 and 4 are correct  b. 2 and 3 are correct c. 1 and 2 correct 
d. 3 and 4 are correct  e. Answer not known 
gpd;tUtdtw;Ws; rhpahdij nghUj;Jf: 
1. ngUk;ghiy  - jUkGhp khtl;lk; 
2. kapyhLk;ghiw  - J}j;Jf;Fb khtl;lk; 
3. rptfis   - fpU~;zfphp khtl;lk; 
4. JY}f;fhh;gl;b  - jpUney;Ntyp khtl;lk; 
a. 1 kw;Wk; 4 rhp  b. 2 kw;Wk; 3 rhp  c. 1 kw;Wk; 2 rhp 
d. 3 kw;Wk; 4 rhp  e. tpil njhpatpy;iy 
 

16. The Archaeological site of Ovamalai is located at 
a. Madurai  b. Tirunelveli   c. Sivaganga 
d. Tanjore  e. Answer not known 
xthkiy njhy;ypay; ,lk; vq;F mike;Js;sJ 
a. kJiu  b. jpUney;Ntyp   c. rptfq;if 
d. jQ;rhT+h;  e. tpil njhpatpy;iy 
 

17. The stone tools found at Athirapakkam belongs to  
a. Paleolithic Age  b. Meolithic Age  c. Mesolithic Age 

d. Megalithic Age  e. Answer not known 
mj;jpug;ghf;fj;jpy; fz;Lgpbf;fg;gl;l fw; fUtpfs; _________ fhyj;ij rhh;e;jit 
a. gioa fw;fhyk;  b. Gjpa fw;fhyk;  c. ,il fw;fhyk; 
d. ngUq; fw;fhyk;  e. tpil njhpatpy;iy 
 

18. Primitive stone tools are 
1. Spears    
2. Round stones with sharp ends  
3. Knives with sharp edge 
4. Egg shaped sharp tools 
a. 1 only   b. 2 only   c. 1, 2 and 3 only 
d. 1, 2, 3 and 4  e. Answer not known 
goq;fw;fhy fUtpfs; vd;gJ 
1. <l;bfs;    
2. $h;ikahd Kidfs; nfhz;l tl;lkhd fw;fs; 
3. ,UGwKk; $h;ikahd fj;jpfs; 
4. Kl;il tbtpy; $h;ikahd fUtpfs; 
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a. 1 kl;Lk;    b. 2 kl;Lk;  c. 1> 2 kw;Wk; 3 kl;Lk; 
d. 1> 2> 3 kw;Wk; 4 kl;Lk;  e. tpil njhpatpy;iy 
 

19. Which one of the following inscription mention the ‘Confederacy of Tamil Kings’? 
a. Hathigumpha Inscription  b. Velvikkudi Copper Plates 
c. Thirukovilur Inscription   d. Chinnamannur Copper Plate Inscription 
e. Answer not known 
fPo;fz;litfspy; jkpo; kd;dh;fspd; $l;likg;ig njhptpf;Fk; fy;ntl;L vJ? 
a. `jpFk;gh fy;ntl;L   b. Nts;tpf;Fb gl;la nrg;NgL 
c. jpUf;NfhtpY}H fy;ntl;L d. rpd;dkD}h; gl;la nrg;NgL 
e. tpil njhpatpy;iy 
 

20. Alangulam archaeological site is located in ____________ District 
a. Ramanathapuram  b. Madurai   c. Tirunelveli 
d. Tanjore    e. Answer not known 
Myq;Fsk; mfo;thuha;r;rp ,lk; __________ khtl;lj;jpy; mike;Js;sJ. 
a. ,uhkehjGuk;  b. kJiu  c. jpUney;Ntyp 
d. jQ;rhT+h;   e. tpil njhpatpy;iy 
 

21. Match the following archaeological sites: 
A. Adichanallur  1. Sivagangai 
B. Mankulam   2. Thoothukudi 
C. Kodumanal  3. Madurai 
D. Keeladi   4. Erode 

A B C D 
a. 2 3 4 1 
b. 3 4 2 1 
c. 4 3 1 2 
d. 2 3 1 4 
e. Answer not known 
njhy;nghUs; Muha;r;rp ,lq;fisg; nghUj;Jf 
A. Mjpr;rey;Y}h;   1. rptfq;if 
B. khq;Fsk;   2. J}j;Jf;Fb 
C. nfhLkzy;  3. kJiu 
D. fPob   4. <NuhL 

A B C D 
a. 2 3 4 1 
b. 3 4 2 1 
c. 4 3 1 2 
d. 2 3 1 4 
e. tpil njhpatpy;iy 
  

22. Which inscription mentioned about the kingdom of Cholas for the first time? 
a. Minor Rock edicts of Asoka  b. 12th Rock Inscription of Asoka 
c. 13th Rock Inscription of Asoka  d. 14th Rock Inscription of Asoka 
e. Answer not known 
Nrhoh;fis gw;wp Fwpf;Fk; Kjy; fy;ntl;L vJ? 
a. mNrhfhpd; rpwpa ghisf; fy;ntl;Lfs; 
b. mNrhfhpd; 12tJ ghiwf; fy;ntl;L 
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c. mNrhfhpd; 14tJ ghisf; fy;ntl;L 
d. mNrhfhpd; 14tJ ghiwf; fy;ntl;L 
e. tpil njhpatpy;iy 
 

23. The major problems faced by the migrant labours to the cities during Covid-19 in Tamil 
Nadu are 
(i) Problems of food 
(ii) Nutritional and livelihood security  
(iii) Harvesting operations were delayed 
a. (i) only   b. (ii) only   c. (i) and (ii) only 
d. (i), (ii) and (iii)  e. Answer not known 
jkpo;ehl;by; Nfhtpl;-19 ,d; NghJ efuq;fSf;Fg; Gyk; ngah;e;j njhopyhsh;fs; 
vjph;nfhz;l Kf;fpa gpur;ridfshtd? 
(i) czTg; gpur;rpidfs; 
(ii) Cl;lr;rj;J kw;Wk; tho;thjhug; ghJfhg;G 
(iii) mWtilg; gzpfs; jhkjkhdJ 
a. (i) kl;Lk;   b. (ii) kl;Lk;   c. (i) kw;Wk; (ii) kl;Lk; 
d. (i)> (ii) kw;Wk; (iii) e. tpil njhpatpy;iy   
 

24. What is the rank of Tamil Nadu in Investment proposals as per the note of MSME 
Project, 2017-18? 
a. I  b. II  C. III  D. IV  e. Answer not known 
MSME jpl;lf; Fwpg;G 2017-18d; gb FW> rpW eLj;ju epWtdq;fSf;fhd KjyPl;by; 
jkpo;ehl;bd; ju tupir vd;d? 
a. I  b. II  C. III  D. IV   e. tpil njhpatpy;iy 
 

25. _______ is the highest food grain producing district in Tamil Nadu as per 2020-21 
a. Villupuram District  b. Thanjavur District c. Salem District  
d. Madurai District   e. Answer not known 
2020-21 Mk; Mz;L Gs;sp tptug;gb> jkpo;ehl;by; czTg; nghUl;fs; cw;gj;jpapy; 
Kjyplk; tfpf;Fk; khtl;lk; 
a. tpOg;Guk; khtl;lk;  b. jQ;rhT+h; khtl;lk; c. Nryk; khtl;lk; 
d. kJiu thl;lk;   e. tpil njhpatpy;iy 
 

26. The Rural Landless Employment Guarantee Programme (RLEGP) was launched on 15th 
August 1983 with the objective of 
a. Generating gainful employment and creating productive assets in rural areas 
b. To strengthen the female education in rural areas 
c. To generate employment opportunities for rural youth 
d. To maximise income of the small and marginal farmers 
e. Answer not known 
1983k; Mz;L Mf];L 15-k; ehs; fpuhk epykw;Nwhh; Ntiy tha;g;G cWjpj; jpl;lk; 
gpd;tUk; ve;j Nehf;fj;jpw;fhf mikf;fg;gl;lJ? 
a. fpuhkg; gFjpfspy; ,yhgfukhd Ntiytha;g;ig cUthf;fTk; kw;Wk; Mf;ftsk;       
nfhz;l nrhj;Jf;fis cUthf;fTk; 
b. fpuhkg; gFjpfspy; ngz; fy;tpia tYg;gLj;j 
c. fpuhkg; Gw ,isQh;fSf;F Ntiy tha;g;ig cUthf;f 
d. rpW kw;Wk; FW tptrhapfspd; tuthia mjpfhpf;f 
e. tpil njhpatpy;iy 
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27. The National programme of Nutritional support to primary Education (NP-NSPE) was 
launched on 
a. 15th August 1995  b. 16th August 1995  c. 15th July 1995 
d. 16th July 1995  e. Answer not known 
Jtf;fg;gs;sp khzth;fSf;fhd Cl;lr;rj;J toq;Fk; Njrpaj; jpl;lk; (NP-NSPE) vd;W 
njhlq;fg;gl;lJ? 
a. 15 Mf];l; 1995  b. 16 Mf];l; 1995  c. 15 [Piy 1995 
d. 16 [Piy 1995  e. tpil njhpatpy;iy 
 

28. Time limit for RTI Reply, from the receipt of application by the public authority 
a. 20 days   b. 25 days   c. 30 days 

d. 40 days   e. Answer not known 
nghJkf;fSf;fhd mjpfhhp> jfty; mwpAk; chpikr; rl;lj;jpd; fPo; tpz;zg;gk; ngw;w 
gpwF gjpy; mspg;gjw;fhd fhy tuk;G 
a. 20 ehl;fs;   b. 25 ehl;fs;   c. 30 ehl;fs;  
d. 40 ehl;fs;   e. tpil njhpatpy;iy 

 
29. Which of the following is NOT a purpose of Digital India Initiatives? 

a. Digitally transformed services for business 
b. Making financial transactions electronic and cashless 
c. Seamless integration of all government services online 
d. Reduced cost of online transactions and services 
e. Answer not known 
gpd;tUtdtw;Ws; vJ b[pl;ly; ,e;jpah Kd;ndLg;Gfspd; Nehf;fk; my;y? 
a. tzpfj;jpw;fhf b[pl;lyhf khw;wg;gl;l Nritfs; 
b. gzg; ghpth;j;jidfisg; gzj;ijf; ifapy; vLj;Jr; nry;yhky; kpd;dZ %yk; 
nra;jy; 
c. ,iza topapy; midj;J muR Nritfspd; jilaw;w xUq;fpizg;G 
d. ,izatopr; Nritfspd; nryitf; Fiwj;jy; 
e. tpil njhpatpy;iy 
 

30. Which one of the following is not a trait of the caste system? 
a. Division of society into segments 
b. Based on a hierarchical system 
c. Allows free movements with other layers 
d. Based on ascribed status 
e. Answer not known 
rhjpaf; fl;likg;gpd; $Wfspy; ,y;yhjJ vJ? 
a. r%fj;ijg; gy;NtWg; gpupTfshf;Fjy; 
b. rhjpa gbepiyapd; %yhjhuk; 
c. rhjpa gbepiyapd; NtWghlw;w epiyia mDkjpf;fpwJ 
d. fl;likf;fg;gl;l r%fg; gbepiyapd; mbg;gil 
e. tpil njhpatpy;iy 
 

31. Expansion for TNRRIS: 
a. Tamil Nadu Rural Road Investment Scheme 
b. Tamil Nadu Rural Road Improvement Scheme 
c. Tamil Nadu Rural Reform Introduction Scheme 
d. Tamil Nadu Rural Reform Investment Scheme 
e. Answer not known 
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TNRRIS apd; tphpthf;fk; 
a. Tamil Nadu Rural Road Investment Scheme 
b. Tamil Nadu Rural Road Improvement Scheme 
c. Tamil Nadu Rural Reform Introduction Scheme 
d. Tamil Nadu Rural Reform Investment Scheme 
e. tpil njhpatpy;iy 
 

32. Among these, socio-economic factor responsible for high birth rate in India is 
a. Low literacy rate  b. Large scale poverty c. Dowry system 
c. Unemployment  e. Answer not known 
,tw;Ws; vit ,e;jpahtpd; mjpfg; gpwg;G tpfpjj;jpw;Ff; fhuzkhd r%f-nghUshjhuf; 
fhuzp MFk;. 
a. Fiwe;j fy;tpawpT tpfpjk;  b. nghpa mstpyhd tWik 

c. tujl;riz    d. Ntiyapd;ik 
e. tpil njhpatpy;iy 

 
33. A sum of money triples itself at 8% per annum over a certain time. Find the number of 

years 
a. 5 years  b. 15 years   c. 25 years 
d. 35 years  e. Answer not known 
xU Fwpg;gpl;l mryhdJ 8% tl;b tPjj;jpy; vj;jid Mz;Lfspy; %d;W klq;fhFk; 
vdf; fhz;f. 
a. 5 Mz;Lfs;  b. 15 Mz;Lfs;  c. 25 Mz;Lfs; 
d. 35 Mz;Lfs;  e. tpil njhpatpy;iy 
 

34. A sum of Rs. 48,000 was lent out at simple interest and at the end of 2 years and 3 
months the total amount was Rs 55, 560. Find the rate of interest per year. 
a. 6%  b. 8%  c. 7%  d. 7.5% e. Answer not known 
fldhf toq;fg;gl;l mry; Rs. 48>000f;F 2 Mz;Lfs; 3 khjf; fhyj;jpw;Fg; gpwF 
jdptl;b %yk; ngwg;gl;l nkhj;jj; njhif Rs. 55>560Mf ,Ue;jJ vdpy; tl;b 
tPjj;ijf; fhz;f. 
a. 6%  b. 8%  c. 7%  d. 7.5% e. tpil njhpatpy;iy 

 
35. Find the simple interest and the amount due on Rs 6, 750 for 219 days at 10% per 

annum 
a. Rs. 415  b. Rs. 395  c. Rs. 425 
d. Rs. 405  e. Answer not known 
Rs. 6> 750f;F 219 ehl;fSf;F 10% tl;b tPjk; jdptl;b fhz;f. 
a. Rs. 415  b. Rs. 395  c. Rs. 425 
d. Rs. 405  e. tpil njhpatpy;iy 
 

36. You are walking alone a street. If you just choose a stranger crossing you, what is the 
probability that his birthday will fall on a Sunday? 
a. 5/7  b. 4/7  c. 3/7  d. 1/7  e. Answer not known 
ePq;fs; xU njUtpy; ele;J nry;fpwPh;fs;. ePtph; re;jpj;jth;fspy; xU Gjpa kdpjidj; 
Njh;e;njLf;fTk;. me;j kdpjhpd; gpwe;jehs; Qhapw;Wf;fpoikahf ,Uf;f epfo;jfT vd;d? 
a. 5/7  b. 4/7  c. 3/7  d. 1/7  e. tpil njhpatpy;iy 
 

37. Compute: (100-1) (100-2) (100-3) …. (100+1) (100+2) (100+3) =? 
a. 0  b. 1  c. 100  d. 1000 e. Answer not known 
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fzf;fpLf: (100-1) (100-2) (100-3) …. (100+1) (100+2) (100+3) =? 
a. 0  b. 1  c. 100  d. 1000 e. tpil njhpatpy;iy 
  

38. Find the compound interest on Rs. 1,000 at the rate of 10% per annum for 18 months 
when interest is compounded half yearly 
a. Rs. 1,157.63  b. Rs. 157.63   c. 167.73 
d. Rs. 157.36   e. Answer not known 
tl;b miu tUlkhf $l;lg;gLk;NghJ 18 khjq;fSf;F Mz;Lf;F 10% vd;w tpfpjj;jpy; 
Rs. 1>000 kPjhd $l;L tl;biaf; fhz;f. 
a. Rs. 1,157.63  b. Rs. 157.63   c. 167.73 
d. Rs. 157.36   e. tpil njhpatpy;iy   
 

39. The difference between simple and compound interest on a certain sum of money for 2 
years at 2% p.a is Rs 1. The sum of money is 
a. Rs 2, 000   b. Rs 1, 500   c. Rs 3, 000 
d. Rs 2, 000   e. Answer not known 
2% Mz;L tl;bapy; 2 Mz;LfSf;F Xu; mrYf;Ff; fpilj;j $l;L tl;bf;Fk; 
jdptl;bf;Fk; ,ilNa cs;s tpj;jpahrk; Rs. 1 vdpy; mry; MdJ _________ 
a. Rs 2, 000   b. Rs 1, 500   c. Rs 3, 000 
d. Rs 2, 000   e. tpil njhpatpy;iy 
 

40. If the lateral surface area of a cube is 600 2
cm . Find the total surface area of a cube. 

a. 150 2
cm   b. 400 2

cm   c. 900 2
cm  

d. 300 2
cm   e. Answer not known 

xU fdrJuj;jpd; gf;fg;gug;G 600 nrkP2 vdpy; mjd; nkhj;jg;gug;G ahJ? 
a. 150 nrkP2  b. 400 nrkP2  c. 900 nrkP2 
d. 300 nrkP2  e. tpil njhpatpy;iy 
 

41. If total surface area of a cube is 486 2
cm , then find its lateral surface area. 

a. 234 2
cm   b. 342 2

cm    c. 432 2
cm    

d. 342 2
cm   e. Answer not known 

xU fdrJuj;jpd; nkhj;jg; Gwg;gug;G 486 nrkP2 vdpy; mjd; gf;fg;gug;igf; fhz;f. 
a. 234 nrkP2  b. 342 nrkP2   c. 432 nrkP2   
d. 342 nrkP2  e. tpil njhpatpy;iy 
 

42. The ratio of the volumes of two cones is 2 : 3. Find the ratio of their radii if the height of 
second cone is double the height of the first. 

a. 1: 2  b. 2 : 3  c. 3: 3  d. 3:3   e. Answer not known 
,U $k;GfSila fd msTfspd; tpfpjk; 2 : 3 MFk;. ,uz;lhk; $k;gpd; cauk; 
Kjy; $k;gpd; cauj;ijg; Nghy; ,U klq;F vdpy; mtw;wpd; Muq;fspd; tpfpjk; fhz;f. 

a. 1: 2  b. 2 : 3  c. 3: 3  d. 3:3   e. tpil njhpatpy;iy 

 
43. The LCM of two co-prime numbers is 5005. One of the numbers is 65, then the other 

number is 
a. 99  b. 88  c. 77  d. 66  e. Answer not known 
,U rhh;gfh vz;fspd; kP.ngh.k 5005. ,tw;wpy; Xh; vz; 65 vdpy;> kw;nwhU vz; 
a. 99  b. 88  c. 77  d. 66  e. tpil njhpatpy;iy 
 

44. The next term in the sequence 1, 8, 9, 64, 25, … is 
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a. 144  b. 36  c. 169  d. 216  e. Answer not known 
1> 8> 9> 64> 25> … vd;w njhlhpd; mLj;j cWg;G 
a. 144  b. 36  c. 169  d. 216  e. tpil njhpatpy;iy 
 

45. Find the number of terms in the progression 2, 4, 8, 16, …. 1024. 
a. 9  b. 11  c. 12  d. 10  e. Answer not known 
2> 4> 8> 16> … 1024 vd;w njhlhpy; cs;s cWg;Gfspd; vz;zpf;if vd;d? 
a. 9  b. 11  c. 12  d. 10  e. tpil njhpatpy;iy 
 

46. The missing term of the series 1, 2, 3, 5, 8, ?, 21 is  
a. 9  b. 11  c. 13  d. 15  e. Answer not known 
1, 2, 3, 5, 8, ?, 21 vd;w njhlhpd; tpLgl;l cWg;igf; fhz;f 

a. 9  b. 11  c. 13  d. 15  e. tpil njhpatpy;iy 
 

47. Find the length of the longest rope that can be used to measure exactly the ropes of 
length. 1m 20cm, 3m, 60cm, and 4m 
a. 40 cm  b. 4 m  c. 20 cm d. 2 m  e. Answer not known 
1 kP 20 nr.kP> 3 kP. 60 nr.kP> kw;Wk; 4 kP msTfis nfhz;l fapWfspd; ePsq;fis 
rhpahf msf;f gad;gLk; fapw;wpd; mjpfgl;r ePsk; 
a. 40 nr.kP  b. 4 kP  c. 20 nr.kP d. 2 kP  e. tpil njhpatpy;iy 
 

48. Find the G.C.D. of 2 3 4
( ) , ( ) , ( )a b b c c a− − −  

a. 4
( )c a−  b. 2

( )a b−  c. 0  d. 1  e. Answer not known 
2 3 4

( ) , ( ) , ( )a b b c c a− − − - d; kP.ngh.t. fhz;f 

a. 4
( )c a−  b. 2

( )a b−  c. 0  d. 1  e. tpil njhpatpy;iy 

 
49. When the digits within the number are multiplied with each other then the product of 

which number set is the lowest? 728, 412, 901, 632 
a. 412  b. 632  c. 728  d. 901  e. Answer not known 
nfhLf;fg;gl;l vz;fspd; ,yf;fq;fis jq;fSf;Fs; ngUf;Fk;NghJ fpilf;Fk; 
njhifapy; ve;j vz;zpd; njhif kpfr; rpwpajhf ,Uf;Fk;? 728, 412, 901, 632 
a. 412  b. 632  c. 728  d. 901  e. tpil njhpatpy;iy 
 

50. If “GIVE” is coded as 5137 and “BAT” is coded as 924. How is “GATE” coded? 
a. 2547 b. 5247 c. 5427  d. 5724 e. Answer not known 
“GIVE” vd;gjd; FwpaPL 5137 kw;Wk; “BAT”  vd;gjd; FwpaPL 924 vdpy; “GATE”  
vd;gJ vg;gb Fwpf;fg;gLk;? 
a. 2547 b. 5247 c. 5427  d. 5724 e. tpil njhpatpy;iy  

51. In a recipe making, every 
1

1
2

cup of rice requires 
3

2
4

 cups of water Express this in the 

ration of rice to water. 
a. 1 : 2  b. 3 : 11 c. 6 : 11 d. 3 : 8  e. Answer not known 

xU rikay; Fwpg;gpy;> xt;nthU 
1

1
2
 Nfhg;ig mhprpf;F> 

3
2

4
 Nfhg;igfs; jz;zPh; 

Njitg;gLfpwJ vd $wg;gl;Ls;sJ vdpy;> mhprp kw;Wk; jz;zPUf;F ,ilNaahd 
tpfpjj;ij vOJf. 
a. 1 : 2  b. 3 : 11 c. 6 : 11 d. 3 : 8  e. tpil njhpatpy;iy 
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52. A line is to be divided into 4 sections in the ration of 1 : 2 : 3 : 6. If the line is 960 mm 
long. Find the length of each part. 
a. 100 mm : 140 mm : 240 mm : 480 mm  b. 100 mm : 160 mm : 260 mm : 440 mm 
c. 80 mm : 160 mm : 240 mm : 480 mm  d. 80 mm : 200 mm : 240 mm : 440 mm 
e. Answer not known 
xU NfhL ehd;F ghfq;fshfg; gphpf;fg;gLfpwJ mjd; tpfpjq;fs; KiwNa 1 : 2 : 3 : 6> 
Nfhl;bd; ePsk; 960 kp.kP. vdpy; xt;nthU ghfj;jpd; msitf; fhz;f. 
a. 100 mm : 140 mm : 240 mm : 480 mm  b. 100 mm : 160 mm : 260 mm : 440 mm 
c. 80 mm : 160 mm : 240 mm : 480 mm  d. 80 mm : 200 mm : 240 mm : 440 mm 
e. tpil njhpatpy;iy 
 

53. The ratio of sides of two cubes is 2 : 3, then the ratio of surface area is (Lateral Surface 
Area) 
a. 4 : 6  b. 4 : 9  c. 6 : 9  d. 16 : 36  e. Answer not known 
,U fdr;rJuq;fspd; gf;fq;fspd; tpfpjk; 2 : 3 vdpy; Gwg;gug;Gfspd; tpfpjk; 
a. 4 : 6  b. 4 : 9  c. 6 : 9  d. 16 : 36  e. tpil njhpatpy;iy 
 

54. In a day 14 workers assemble 42 units. How many units would 23 workers assemble? 
a. 60  b. 65  c. 69  d. 68  e. Answer not known 
xU ehspy; 14 njhopyhsh;fs; 42 mLf;Ffis mikfpd;wdh;> vdpy; 23 njhopyhsh;fs; 
vj;jid mLf;Ffis mikg;ghh;fs;? 
a. 60  b. 65  c. 69  d. 68  e. tpil njhpatpy;iy 
 

55. If 25% of A is equal to 40% of B. What percent of A is B? 
a. 65%  b. 15%  c. 67.5% d. 62. 5% e. Answer not known 
A – apd;; 25% vd;gJ> B -apd; 40% f;Fr; rkk; vdpy;> B vd;gJ A-tpy; vj;jid 
rjtPjk;? 
a. 65%  b. 15%  c. 67.5% d. 62. 5% e. tpil njhpatpy;iy 

 
56. Akila scored 80% in an examination. If her score was 576 marks, find the maximum 

marks of the examination. 
a. 750  b. 830  c. 720  d. 870  e. Answer not known 
mfpyh xU Njh;tpy; 80% kjpg;ngz;fisg; ngw;whs;. mts; ngw;wJ 576 kjpg;ngz;fs; 
vdpy;> me;j Njh;tpd; nkhj;j kjpg;ngz;fisf; fhz;f. 
a. 750  b. 830  c. 720  d. 870  e. tpil njhpatpy;iy 
 

57. Find 3 3
,x y−  if 5x y− = and 14xy =  

a. 225  b. 335  c. 325  d. 330  e. Answer not known 

5x y− =  kw;Wk; 14xy =  vdpy; 3 3
,x y−  d; kjpg;igf; fhz;f. 

a. 225  b. 335  c. 325  d. 330  e. tpil njhpatpy;iy  
 

58. In the Southern Hemisphere the milky way appears much 
a. darker  b. brighter  c. larger   
d. smaller  e. Answer not known 
njw;F miuf;Nfhsj;jpy; kpy;fp Nt (milky way) ,t;thW njd;gLk;? 
a. ,Uz;ljhf b. gpufhrkhdjhf  c. nghpajhf 
d. rpwpajhf  e. tpil njhpatpy;iy  
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59. “Preventive measures that can be taken for protecting the water-Shed, construction of 
dam and prevention of human encroachment on catchment area”. Which one of the 
following catastrophic disaster prevention is referred in the above statement? 
a. Flood  b. Valcanoes    b. Earthquakes 
d. Tsunami  e. Answer not known 
“ePh;j;Njf;fq;fisg; ghJfhg;gJ> mizfs; fl;LtJ> kdpj Mf;fpukpg;Gfis mfw;Wjy; 
Nghd;w jLg;G eltbf;iffshy; ghJfhf;f KbAk;” Nkw;Fwpg;gpl;l tpsf;fk; gpd;tUk; 
,aw;ifg; NguopTfspy; vijj; jLf;f Fwpg;gpLfpwJ? 
a. nts;sk;  b. vhpkiy   c. epy eLf;fk; 
d. Mopg; Nguiy e. tpil njhpatpy;iy 
 

60. Atom bomb used in Nagasaki incident 
a. Little Boy   b. Fat Man    c. Phoenix 
d. Little Girl   e. Answer not known 
ehfrhfp mZFz;L tPr;rpy; gad;gLj;jpa mZFz;L 
a. ypl;by; gha;  b. /Ngl; Nkd;   c. gPdpf;]; 
d. ypl;by; Nfhs;  e. tpil njhpatpy;iy 
 

61. Germ plasm theory was proposed by 
a. Charles Darwin  b. August Weismann  c. Gregor Johann Mendel 
d. Hugo Devries  e. Answer not known 
n[h;k; gpshrk; Nfhl;ghl;il Kd;nkhope;jth; 
a. rhh;y]; lhh;tpd;   b. mf];l; ntha;];Nkd; c. fpufh; N[h`hd; nkz;ly; 
d. `_Nfh bthp];  e. tpil njhpatpy;iy 
 

62. The most vital three elements (Primary Nutrients) for the growth of plants are 
a. K, P and N   b. N, P and Mg  c. Fe, P and N 
d. Ca, Mg and Fe  e. Answer not known 
jhtuq;fspd; tsh;r;rpf;F kpf Kf;fpakhd %d;W jdpkq;fs; (Kjd;ik Cl;lrj;Jf;fs;) 
a. K, P kw;Wk; N   b. N, P kw;Wk;  Mg  c. Fe, P kw;Wk;  N 
d. Ca, Mg kw;Wk;  Fe   e. tpil njhpatpy;iy 
 

63. The conjugate bases of Hydrochloric acid and acetic acid are _________ and _______ 

a. H and H
+ −    b. 

3
Cl and CH OO

− −   c. 
3

Cl and CH OO
+ −  

d. 
3

Cl and CH OO
− +   e. Answer not known 

i`l;NuhFNshhpf; kw;Wk; mrpbf; mkpyq;fspd; ,iz fhuq;fshdJ __________ kw;Wk; 
__________ MFk;. 

a. H
+ kw;Wk; H

−   b. Cl
−  kw;Wk; 

3
CH OO

−  c. Cl
+  kw;Wk; 

3
CH OO

−  

d. Cl
− kw;Wk; 

3
CH OO

+   e. tpil njhpatpy;iy 

 
64. All liquid drops assume spherical shapes, on account of 

a. Elasticity   b. Surface tension  c. Viscosity 
d. Gravitation  e. Answer not known 
vy;yh jputj;JspfSk; Nfhs tbit miltjw;Ff; fhuzk; 
a. kPs;jpwd;   b. gug;G ,Otpir  c. ghF epiy 
d. Gtp <h;g;G   e. tpil njhpatpy;iy 
 

65. How the Thanjavur doll is performing a dance like continuous moving without fall? 
a. Centre of mass  b. Centre of acceleration c. Centre of gravity 
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d. None of these  e. Answer not known 
vg;gb jQ;rhT+h; nghk;ik fPNo tpohky; njhlh;r;rpahf Mbf; nfhz;L ,Uf;fpwJ? 
a. epiw ikak;  b. KLf;f ikak;  c. <h;g;G ikak; 
d. ,tw;wpy; VJkpy;iy e. tpil njhpatpy;iy 
  

66. By which Act the name Uttranchal was changed into Uttarakhand? 
a. The Uttranchal (Alteration of Name) Act, 2006 
b. The Uttranchal (Alteration of Name) Act, 2000 
c. The Uttranchal (Alteration of Name) Act, 2001 
d. The Uttranchal (Alteration of Name) Act, 2003 
e. Answer not known 
ve;jr; rl;lj;jhy; cj;juhQ;ry; vd;w ngah; cj;jufhz;L vd;W khw;wg;gl;lJ? 
a. cj;juhQ;ry; (ngah; khw;wk;) rl;lk;> 2006 

b. cj;juhQ;ry; (ngah; khw;wk;) rl;lk;> 2000 
c. cj;juhQ;ry; (ngah; khw;wk;) rl;lk;> 2001 
d. cj;juhQ;ry; (ngah; khw;wk;) rl;lk;> 2003 
e. tpil njhpatpy;iy  
 

67. The compound used in breath analysis test for drunken driving is  
a. 

4
KMnO   b. 

4 2
.5CuSO H O   c. 

2 2
H O  

d. 
2 2 7

H Cr O   e. Answer not known 

FbNghijapy; thfdk; Xl;Lgthpd; %r;R gFg;gha;T Nrhjidapy; gad;gLj;jg;gLk; 
Nrh;kk; 
a. 

4
KMnO   b. 

4 2
.5CuSO H O   c. 

2 2
H O  

d. 
2 2 7

H Cr O   e. tpil njhpatpy;iy 

 
68. Assertion (A) : India has been divided into 20 river basins/group of river basins, 

   comprising 12 major basins and eight composite river basins. 
Reason (R):  Each of these basins has a drainage area below 10,000 sq.km. 
a. (A) is true, but (R) is false 
b. Both (A) and (R) are true; and (R) is the correct explanation of (A) 
c. (A) is false, (R) is true, but (R) is not the correct explanation of (A) 
d. Both (A) and (R) are true, but (R) is not the correct explanation of (A) 
e. Answer not known 
$w;W (A): ,e;jpah 20 ejpg; gLiffshfg; gphpf;fg;gl;Ls;sJ> ,jpy; 12 nghpa 

gLiffs; kw;Wk; 8 ,izg; gLiffs; cs;sd. 
fhuzk; (R): ,e;j gLiffs; xt;nthd;Wk; 10>000 rJu fpNyh kPl;lUf;Fk; Fiwthd 

tbfhy; gFjpiaf; nfhz;Ls;sJ 
a. (A) $w;W rhp (R) fhuzk; jtW 
b. (A) $w;W kw;Wk; (R) fhuzk; ,uz;Lk; rhp; (A) $w;Wf;fhd (R) fhuzk; rhp 
c. (A) $w;W jtW (R) fhuzk; rhp 
d. (A) $w;W kw;Wk; (R) fhuzk; ,uz;Lk; rhp> (A) $w;Wf;fhd fhuzk; 
e. tpil njhpatpy;iy 
 

69. Which social security scheme offers health and maternity benefits for women? 
a. AB – PMJAY  b. PMSBY  c. PMJJBY 
d. PMJDY   e. Answer not known 
ve;jr; r%fg; ghJfhg;Gj; jpl;lk; ngz;fspd; MNuhf;fpaj;jpw;Fk; kfg;NgWf;Fk; 
gadspf;fpwJ? 
a. AB – PMJAY  b. PMSBY  c. PMJJBY 
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d. PMJDY   e. tpil njhpatpy;iy 
 

70. Which of the following is/are wrongly matched? 
a. Namdapha National Park - Arunachal Pradesh 
b. Keibul Lamjao National Park - Meghalaya 
c. Nokrek National Park  - Manipur 
d. Similipal National Park  - Odisha 
a. (a) and (d)   b. (b) and (c)   c. (d) only 
d. (a) only   e. Answer not known 
gpd;tUtdtw;wpy; vJ /vit jtwhfg; nghWj;jg;gl;Ls;sd? 
a. ek;jgh Njrpag; G+q;fh   - mUzhryg; gpuNjrk; 
b. Nfa;Gy; yk;N[h Njrpag; G+q;fh  - Nkfhyah 

c. Nehf;nuf; Njrpag; G+q;fh   - kzpg;G+h; 
d. rpkpypghy; Njrpag; G+q;fh  - xbrh 
e. tpil njhpatpy;iy 
 

71. Which is not in the Group of Monuments at Mahabalipuram in Tamil Nadu? 
a. Arjunas Penance  b. Shore temple  c. Five Rathas 
d. Aayi Mandapam  e. Answer not known 
jkpo;ehl;bd; khky;yGuj;jpy; mike;Js;s epidTr;rpd;d njhFg;Gfspy; ,lk; ngwhjJ 
vJ? 
a. mh;[Pdd; jgR  b. flw;fiuf; Nfhapy;   c. Ie;J ujk; 
d. Map kz;lgk;  e. tpil njhpatpy;iy 
 

72. ‘The origin of species’ book written by 
a. Lamark  b. De Vries   c. Darwin  
d. Oparin  e. Answer not known 
‘rpw;wpdq;fspd; Njhw;wk;’ vd;Dk; Gj;jfj;ij vOjpath; 
a. ykhh;f;  b. B t;hp];   c. lhh;tpd; 
d. xghhpd;  e. tpil njhpatpy;iy 
 

73. According to 2001 census the lowest population density of 13 persons per sq. km. was 
found in which state of India? 
a. Arunachal Pradesh  b. Megalaya   c. Mizoram 
d. Sikkim    e. Answer not known 
2001 k; Mz;L kf;fs; njhif fzf;nfLg;gpd; gb ,e;jpahtpy; kpff; Fiwe;j kf;fs; 
mlh;j;jpahd 13 egh;fs; 1 rJu fp.kP nfhz;Ls;s khepyk; vJ? 
a. mUzhr;ry gpuNjrk;  b. Nkfhyhah   c. kpNrhuk; 
d. rpf;fpk;    e. tpil njhpatpy;iy 
 

74. Match the following: 
List I    List II 
A. Nokrek   1. Odisha 
B. Simlipal   2. Meghalaya 
C. Panchmarhi  3. Arunachal Pradesh 
D. Dehang – Dibang 4. Madhya Pradesh 

A B C D 
a.  2 1 4 3 
b. 1 2 3 4 
c. 2 3 4 1 
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d. 3 4 1 2 
e. Answer not known 
gpd;tUtdtw;iw nghUj;jTk;: 
gl;bay; I   gl;bay; II 
A. Nehf;nuf;   1. Xbrh 
B. rpk;ypghy;   2. Nkfhyah 
C. gQ;r;khh;fp   3. Nkfhyah 
D. bfhq;-bghq;  4. kj;jpa gpuNjrk; 

A B C D 
a.  2 1 4 3 
b. 1 2 3 4 
c. 2 3 4 1 
d. 3 4 1 2 
e. tpil njhpatpy;iy 
 

75. In India, the largest freshwater lake Loktak is situated in  
a. Kerala  b. Uttaranchal   c. Manipur 
d. Rajasthan  e. Answer not known 
,e;jpahtpy;> kpfg;nghpa ed;dPh; Vhpahd Nyhf;lf; Vhp ____________ y; mike;Js;sJ 
a. Nfush  b. cj;juhQ;ry;  c. kzpg;G+h; 
d. uh[];jhd;  e. tpil njhpatpy;iy 
 

76. The average annual rainfall less than 20 cm is recorded in which part of Rajasthan? 
a. Eastern Rajasthan   b. Western Rajasthan  c. Southern Rajasthan 
d. Northern Rajasthan  e. Answer not known 
,uh[];jhdpy; ve;jg; gFjpapy; ruhrhp Mz;L kiog;nghopT 20 nr.kPf;Fk; Fiwthfg; 
gjpthfpwJ. 
a. fpof;F ,uh[];jhd;  b. Nkw;F ,uh[];jhd; c. njw;F ,uh[];jhd; 
d. tlf;F ,uh[];jhd;  e. tpil njhpatpy;iy 
 

77. Name the states with no tribes have been scheduled in  
a. Punjab and Haryana   b. Bihar and Jharkhand   
c. Karnataka and Andhra Pradesh d. Nagaland and Sikkim 
e. Answer not known 
ve;j khepyq;fspy; goq;Fbapdh; gl;bapayplg;gltpy;iy? 
a. gQ;rhg; kw;Wk; `hpahdh  b. gPfhh; kw;Wk; [hh;fz;l 
c. fh;ehlhf kw;Wk; Me;jpug;gpuNjrk; d. ehfhye;J kw;Wk; rpf;fpk; 
e. tpil njhpatpy;iy 
 

78. In the 3rd Century B.C. the _________ served as the common language of the people in 
India. 
a. Prakrit   b. Sanskrit   c. Hindi 
d. Pali    e. Answer not known 
fp.K. 3Mk; E}w;whz;by; ____________ ,e;jpahtpy; cs;s kf;fspd; nghJthd 
nkhopahfg; gad;gLj;jg;gl;lJ. 
a. gpuhfpUjk;   b. rk];fpUjk;  c. `pe;jp 
d. ghyp   e. tpil njhpatpy;iy 
 

79. Which Sultan of Delhi imposed Jizya on the Brahmins? 
a. Balban    b. Firoz Tughlaq  c. Allauddin Khilji 
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d. Mohammad–Bin–Tughlaq e. Answer not known 
gpuhkzh;fs; kPJk; [p]pah thpia tpjpj;j by;yp Ry;jhd; ahh;? 
a. ghy;gd;    b. ngNuh]; Jf;sf;  c. myhTjPd; fpy;[p 
d. KfkJ- gpd; - Jf;sf;  e. tpil njhpatpy;iy 
  

80. The price of a first grade horse fixed by Ala-ud-din was 
a. 100 - 120 tankas  b. 120 – 140 tankas  c. 140 – 160 tankas 
d. 160 – 180 tankas  e. Answer not known 
myhTjPd; eph;zapj;j Kjy;ju Fjpiuapd; tpiy 
a. 100 – 120 jhq;fhf;fs;  b. 120 – 140 jhq;fhf;fs; 
c. 140 – 160 jhq;fhf;fs;  d. 160 – 180 jhq;fhf;fs;  
e. tpil njhpatpy;iy 
 

81. The only Hindu Courtier of Akbar who accepted Din-e-Ilaki was 
a. Raja Todarmal  b. Raja Birbal  c. Raja Mansingh 
d. Tansen   e. Answer not known 
jPd;-,yh`pia Vw;Wf; nfhz;;l mf;ghpd; mitapy; ,Ue;j xNu ,e;J muritapdh;. 
a. uh[h Njhlh;khy;  b. uh[h gPh;ghy;  c. uh[h khd;rpq; 
d. jhd;Nrd;   e. tpil njhpatpy;iy 
 

82. Which one of the following Pallava rulers assumed the title of “Vatapikondan”? 
a. Mahendravarman – I  b. Mahendravarman – II 
c. Narasimhavarman – I  d. Narasimhavarman – II 
e. Answer not known 
fPo;f;fz;l gy;yth; Ml;rpahsh;fspy; ahh; “thjhgpnfhs;lhd;” vd;w gl;lj;jpidf; 
nfhz;lth;? 
a. kNfe;jputh;kd; - I  b. kNfe;jputh;kd; - II 
c. eurpk;kth;kd; - I   d. eurpk;kth;kd; - II  
e. tpil njhpatpy;iy 
 

83. How many Official languages are recognized in India? 
a. 14  b. 15  c. 22  d. 18  e. Answer not known 
,e;jpahtpy; mYtyfg; gzp nkhopfshf (my;yJ) Ml;rpg;gzp nkhopfshf 
mq;fPfhpf;fg;gl;l nkhopfs; vj;jid? 
a. 14  b. 15  c. 22  d. 18  e. tpil njhpatpy;iy 
 

84. “The King was freed from his people and they from their King”. On whose death did 
Badauni Comment thus. 
a. Mohamed-bin-Tuqlaq  b. Ghiya Sudin Tuqlaq  c. Rajab 
d. Zafar Khan   e. Answer not known 
“kd;dh; kf;fsplk; ,Ue;Jk;> kf;fs; kd;dhplk; ,Ue;Jk; tpLjiy ngw;wdh;” ahUila 
kuzj;ij Fwpj;J gjhAdp ,t;thW fUj;J njhptpj;jhh;? 
a. KfkJ gpd; Jf;sf;  b. fpahRjPd; Jf;sf;  c. u[g; 
d. ~gh; fhd;    e. tpil njhpatpy;iy 
 

85. Read the following passage and answer the item. Your answer based on passage only 
 
In India the Environment, Clothing, Festivals, Skin colour etc. differ form region to 
region. There several difference often within the same state. But there is one thing that 
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is common out nationality. There are 22 major language, 122 other language and 
roughly 1599 dialects in our country. 
 
Which one of the following is best implied in the passage? 
a. It implies the national economy 
b. Increased the growth of population  
c. It is based on the India’s “Unity in diversity” 
d. In indicate trade and commerce 
e. Answer not known 
gpd;tUk; gj;jpiag; gbj;J mjw;FNaw;wthW gjpyspf;fTk;. cq;fs; gjpy; gj;jpapd; 
eilapy; kl;LNk mika Ntz;Lk;. 
 
,e;jpahtpy; Rw;Wr;#oy;> Milfs;> gz;bif> Njhy; epwk; Nghd;wit gpuhe;jpaj;jpw;F 
gpuhe;jpak; NtWgLfpd;wd. gy NtWghLfs; cs;sd> ngUk;ghYk; xNu khepyj;jpy; 
Mdhy; nghJthd xd;W cs;sJ “ekJ Njrk;”. ,e;jpahtpy; 22 Kf;fpa nkhopAk;> 122 
gpw nkhopfSk;> Njhuakhf 1599 fpisnkhopfSk; cs;sd. 
 
gpd;tUtdtw;wpy; xd;W gj;jpapy; rpwg;ghff; Fwpg;gplg;gl;Ls;sJ? 
a. Njrpag; nghUshjhuj;ijf; Fwpf;fpwJ 
b. cah;e;J tUk; kf;fs; njhif 
c. ,e;jpahtpd; Ntw;Wikapy; xw;Wikiaf; Fwpf;fpwJ 
d. th;j;jfk; kw;Wk; th;j;jfj;ijf; Fwpf;fpwJ 
e. tpil njhpatpy;iy 
  

86. Who is the architect of “Rule of Law”? 
a. A.V. Dicey   b. Harold Laswell  c. Aristotle 
d. G.D.H. Cole  e. Answer not known 
rl;lj;jpd; Ml;rpia tbtikj;jth; ahh;? 
a. V.tp. ilrp   b. n`Nuhy;L yh]; nty;  c. mhp];lhl;by;;   
d. [p.b.n`r;. Nfhy ; e. tpil njhpatpy;iy 
 

87. Which of the following is not listed under the union list? 
a. Corporation Tax  b. Income tax other than agricultural Income 
c. Capitation Tax  e. Customs Duty 
e. Answer not known 
fPo;tUtdtw;Ws; vJ kj;jpa gl;baypy; ,lk;ngwtpy;iy? 
a. khefuhl;rp thp  b. tptrha tUkhdk; jtpu kw;w tUkhd thp 
c. %yjd thp  d. Rq;f thp 
e. tpil njhpatpy;iy 
 

88. Choose the right matches about Panchayat Raj from the following: 
1. K. Santhanam Committee  - Panchayat Raj Elections 
2. R.K. Khanna Committee   - Nyaya Panchayate 
3. Smt. Daya Choubey Committee - Panchayat Raj Finances 
4. G. Ramachandran Committee  - Panchayat Raj Training Centres 
a. 1 and 4 are correct b. 2 and 3 are correct c. 1 and 3 are correct 
d. 3 and 4 are correct e. Answer not known 
gQ;rhaj;J uh[; gw;wp fPo;fhzg;gLgitapy; vJ/vit rhpahf nghUj;jg;gl;Ls;sd? 
1. Nf. re;jhdk; FO  - gQ;rhaj;J uh[; Njh;jy; 
2. Mh;.Nf. fd;dh FO  - epahag; gQ;rhaj;J 
3. jpUkjp. jah nrsNg FO - gQ;rhaj;J uh[; epjp epiy 
4. [p. uhkr;re;jpuh FO  - gQ;rhaj;J uh[; gapw;rp ikaq;fs; 
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a. 1 kw;Wk; 4 rhp  b. 2 kw;Wk; 3 rhp  c. 1 kw;Wk; 3 rhp 
d. 3 kw;Wk; 4 rhp  e. tpil njhpatpy;iy 
 

89. Which of the following Article is related to the Duties of the Prime Minister? 
a. Article 75   b. Article 76   c. Article 77 
d. Article 78   e. Answer not known 
gpujk; mikr;rhpd; flik gw;wpf; $Wk; tpjp ahJ? 
a. tpjp 75   b. tpjp 76   c. tpjp 77 
d. tpjp 78   e. tpil njhpatpy;iy 
 

90. The fundamental Duties of Indian Citizens are incorporated in  
a. Part I of the Constitution  b. Part II of the Constitution 
c. Part III A of the Constitution d. Part IV A of the Constitution 
e. Answer not known 
,e;jpa Fbkf;fspd; mbg;gil flikfs; ________ ,y; Nrh;f;fg;gl;Ls;sd. 
a. murpayikg;G gFjp I  b. murpayikg;G gFjp II 
c. murpayikg;G gFjp III A d. murpayikg;G gFjp IV A 
e. tpil njhpatpy;iy 
 

91. The fundamental rights are enshrined in __________ of the Indian constitution 
a. Part II b. Part III  c. Part I d. Part IV e. Answer not known 
,e;jpa murpayikg;gpd; mbg;gil chpikfs; _________ y; Nrh;f;fg;gl;Ls;sd. 
a. gFjp II  b. gFjp III   c. gFjp I 
d. gFjp IV  e. tpil njhpatpy;iy 
 

92. The Dowry Prohibition Act was enacted in the year 
a. 1962 b. 1960 c. 1961  d. 1963 e. Answer not known 
tujl;riz jilr; rl;lk; nfhz;L tug;gl;l Mz;L 
a. 1962 b. 1960 c. 1961  d. 1963 e. tpil njhpatpy;iy 
 

93. The constituent Assembly held its first meeting on 9th December, 1946. _________ 
Presided over the inaugural session. 
a. Dr. Rajendra Prasad  b. Pandit Jawaharlal Nehru 
c. Dr. Sachidanand Sinha  d. Dr. B.R. Ambadkar 
e. Answer not known 
1946 Mk; Mz;L brk;gh; khjk; 9-k; Njjp murpayikg;G eph;za rigapd; Kjy; $l;lk; 
eilngw;wJ. ,f;$l;lj;jjpw;F __________ vd;gth; jiyik jhq;fpdhh;. 
a. lhf;lh uhN[e;jpu gpurhj;   b. gz;bjh; [t`h;yhy; NeU 
c. lhf;lh; rr;rpjhde;j rpd;fh  d. lhf;lh; gp.Mh;. mk;Ngj;fh; 
e. tpil njhpatpy;iy 
  

94. The share of Agricultural and allied sectors in total GDP (At 2004 – 05 prices) was 
_______ during 2010 – 2011 in India. 
a. 12.9 percent  b. 32.4 percent  c. 16.4 Percent 
d. 14.4 percent  e. Answer not known 
2010-11 Mk; Mz;by; ,e;jpahtpd; nkhj;j Njrpa cw;gj;jpapy; (2004-05 tpiyg;gb) 
Ntshz;rhh; kw;Wk; Ntshz; Jiwapd; gq;fspg;ghdJ. 
a. 12.9 rjtPjk;  b. 32.4 rjtPjk;  c. 16.4 rjtPjk; 
d. 14.4 rjtPjk;  e. tpil njhpatpy;iy 
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95. According to Jawaharlal Nehru, the development of ________ is important for rapid 
economic development. 
a. Modern Agriculture b. Heavy Industries  c. Rural Development 
c. Rural Development e. Answer not known 
[t`h;yhy; NeUtpd; $w;Wg;gb tpiuthd nghUshjhu tsh;r;rpf;F __________ 
Kf;fpakhdJ. 
a. etPd Ntshz;ik b. fduf njhopy;fs; c. Cuf Nkk;ghL 
d. kUj;Jt trjpfs; e. tpil njhpatpy;iy 
 

96. For the fulfillment of the objectives of Land Reforms the major steps adopted under the 
programme are: 
(i) Abolition of Intermediaries 
(ii) Regulation of Land lord – tenant relationship and redistribution of land by placing 
ceiling on land holdings 
(iii) Consolidation of scattered holdings 
(iv) Updating and computerization of land records 
a. (i) and (ii) only  b. (iii) and (iv) only  d. (i), (ii) and (iv) only 
d. (i), (ii), (iii) and (iv) e. Answer not known 
epyr;rPh;jpUj;j Nehf;fq;fis epiwNtw;w vLf;fg;gl;l Kf;fpa eltbf;if jpl;lq;fs;: 
(i) ,ilj; jufh;fis xopj;jy;  
(ii) epy chpikahsh; - Fj;jifjhuh; cwit xOq;FgLj;Jjy; kw;Wk; epyj;jpd; kPJ 
cr;r tuk;G itg;gjd; %yk; epyj;ij kWgq;fPL nra;jy; 
(iii) rpjwpa epyq;fis xUq;fpizj;jy; 
(iv) epyg; gjpTfis fzpdpkakhf;Fjy; kw;Wk; GJg;gpj;jy; 
a. (i) kw;Wk; (ii) kl;Lk; b. (iii) kw;Wk; (iv) kl;Lk;  d. (i), (ii) kw;Wk; (iv) kl;Lk; 
d. (i), (ii), (iii) kw;Wk; (iv) e. tpil njhpatpy;iy 
 

97. Goods and Service Tax (GST) is a ________ 
a. Direct Tax   b. Indirect Tax  c. Proportional Tax 
d. Regressive Tax  e. Answer not known 
ruf;F kw;Wk; Nrit thp (GST) vd;gJ xU ________  
a. Neh;Kf thp  b. kiwKf thp  c. rkr;rPh; thp 
d. Fiwtpfpj thp  e. tpil njhpatpy;iy 
 

98. __________ system of note-issue is followed by RBI. 
a. Maximum Reserve b. Minimum Reserve c. Proportional Reserve 
d. Fixed Fiduciary  e. Answer not known 
hprh;t; tq;fp &gha; Nehl;L mr;rpl;L ntspapLtjpy; __________ Kiw gpd;gw;wg;gLfpwJ 
a. mjpf gl;r ,Ug;G  b. Fiwe;j gl;r ,Ug;G c. tpfpjhrhu ,Ug;G 
d. eiyahd ek;gfj;jd;ik  e. tpil njhpatpy;iy 
 

99. During the great depression ________ system failed to respond to the needs of the 
people. 
a. Capitalist System  b. Socialist System  c. Demogratic System 
d. Mixed Economic System  e. Answer not known 
ngUk; ke;j epiyapd; NghJ __________ mikg;G kf;fspd; NjitfSf;F gjpyspf;f 
jtwpaJ. 
a. Kjyhspj;Jt Kiw  b. rkjh;k Kiw  c. [dehaf Kiw 
d. fyg;G nghUshjhu Kiw e. tpil njhpatpy;iy 
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100. During second five year plan the targeted growth rate was _________ 
a. 4.5% b. 5.5% c. 3.5% d.  6.0% e. Answer not known 
,uz;lhtJ Ie;hz;L jpl;lj;jpd; tsh;;r;rp ,yf;F tpfpjk; ________ 
a. 4.5% b. 5.5% c. 3.5% d.  6.0% e. tpil njhpatpy;iy 
 


